1/17/2020 Metallurgy

Disclaimer: Displayed questions are not as per the sequence in which candidate has actually attempted the questions

in question paper.

Post Name: Junior Trainee - Metallurgy

SECTION 1 - GENERAL KNOWLEDGE

Question No.1

Which of the following is not a neighbouring country of India?
800 TS erEBBT IS DOFG B0 G I&?

(A) O China
I

(B) O Pakistan
JEFS

(C) O Belgium
2320500

(D) O Nepal
JJrS

1.00

Question No.2

What was the name of the women's regiment of Indian National Army?
2B A0 PIE $F0eS” LY BRV0ES DL AAE?

(A) O Rani Chennamma Regiment
o3 D) ), 8R0S

(B) O Rani Velu Nachiyar Regiment
Ted Dew DA G2okd

(C) O Rani of Jhansi Regiment
o°ed Ay 8208

(D) O Rani Raziya Begum Regiment
Tred G203 &3tio BRvotd

1.00

Question No.3

In financial terms, what is the expansion of "GST"?
©88DERD DErVS” "GST" L DYdes 6o AE?

(A) name="2" type="radio' /> Goods and Sales Tax
m"&b 0& 5095‘3 €J°§Q
(B) O Goods and Security Tax
(ﬁJ"&D ol 703)"5592) eJ"éb
(C) O Goods and Services Tax

(D) O General and Services Tax
23065 @0l DERN &Sy

1.00

Question No.4

Which is the wettest place in the world?
800 TBS” PowsoS"D ot B o VB0 IB?
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(A) O Aizawl
m@sé

(B) O Cairo
g®

(C) O Cape Town
SISTRN S

(D) O Mawsynram
SrdHo°0

FG0DoDod?

(A) O New Development Bank
Qo GOVOI e.)"50§

(B) O Asian Development Bank
DO EOVDAE ejos

(C) O World Bank
L0 erjodd

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Metallurgy.html

Which of the following banks launched the world's first block chain based bond called 'Bond-i'?
800 TBS® D ergoLd VOB’ D Aty BB “erol - 7 D DeJE gPE BOWD BTPOS ero&i

Question No.5 1.00
Which of the following chemicals are commonly known as Greenhouse gases?
808 TS’ JGPGE0MT HDITTD STPOINHLITT VDG SAPOTLD JDod?
(A) O Propylene and Sulfuric acid
THBS 206000 Doy 08 B0
(B) O cCarbon dioxide and Methane
S°6)D oIS E B0k DB
(C) O Ethylene and Sodium Hydroxide
2608 20o0sw Vdabo TEEE
(D) O Hydrogen chloride and Calcium carbonate
TEaS §9& 20005 5°Qako SPEHIES
Question No.6 1.00
The term "Leg Before Wicket" is associated with
"SA DI D" 9D Hdo £ 902000V
(A) O Tennis
ﬁb‘lfo
(B) O Volleyball
TodereS
(C) O Cricket
83é
(D) O Chess
eSBoio
Question No.7 1.00
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(D) O International Monetary Fund
OSTAODH GO &

Question No.8 1.00

In June 2019, the 20th Meeting of Financial Stability and Development Council (FSDC) was held
under the Chairmanship of
2D 2019 & 398 JOSC0 20030 DB 006D (FSDC) cing), 20 & wardo

wcﬁgééé 20008.

(A) O Shaktikanta Das
335P08 T°0

(B) O Amitabh Kant
T S°0d

(C) O Ajay Tyagi
€920 (o)

(D) O Nirmala Sitharaman
DB e DET D

Question No.9 1.00

Which one of the following National Parks is located in Assam?
800 &P FEY VS’ IO WIS’ Gots?

(A) O Jim Corbett National Park
220 520385 PHOD FE)

(B) O Namdapha National Park
Do &rBaDH A

(C) O Manas National Park
B0 daHd 5‘6.)6

(D) O Silent Valley National Park
PSS 0’53) 2Bk F)

Question No.10 1.00

Which of the following International lines lies between India and Pakistan?
800 D odTAOL B eTES SOKD FEPP SES &0b?

(A) O Durand Line
crgorot B9

(B) O Hindenburg Line
bo&B&)Q foF:5)

(C) O Radcliffe Line
°°§"€'§‘5 o

(D) O Maginot Line
S03¢5 B

Question No.11 1.00

Recently, who took oath as 31st Chief Minister of Karnataka by Governor Vajubhai Vala?
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QadHe), o (ﬁéé&é OO0 TP 58°eoé oo 315 éwa)zgéoo@m DI ‘?ossvdo BOIA AHHD?

(A) O Rajasekhar
or230

(B) O Kumara Raja
805°8 Toer

(C) O Bhawana Kanth
2PHT® S°0D

(D) O Yediyurappa
03361(1111'6'&)3

Question No.12 1.00

What is the expansion of the acronym 'IMO’ (an International organisation)?
'IMO’" (28 ©90dTrdam Do) @ 2 6rards DS IS?

(A) O Indian Moffosal Organisation
Q0A00D XIS eagga'%:q:%

(B) O International Medical Organisation
Q038) IS 0SS GRS

(C) O Indian Metro Organizational
Q04000 0¢5° GBS

(D) O International Maritime Organization
Qo03) DIS H8B0 EJFAD

Question No.13 1.00

Which one of the following is an example of Exogenic forces?
800 TBS” 2GS (AEVBIE) Leroth GrrTdn I67?

(A) O Landslide
Eoct woaen DBADEL(erolRE)

(B) O Volcano
@00 DO :)S“Deoséo
(C) O Earthquake
235°80000

(D) O Sea-waves
DAWG-Gormren

Question No.14 1.00

Which State celebrates the Khajuraho Dance festival?
63T )ty DS BERDLD T°Ko IB?

(A) O Rajasthan
wag%

(B) O West Bengal
B’J'?‘)m &orred

(C) O Madhya Pradesh
2B3503%
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(D) O Assam
295""30

Question No.15 1.00

The Mahatma Gandhi National Rural Employment Guarantee Scheme aims to provide minimum
in a financial year
20FER), TPob 2SO TP GG D DEEBW w8 0 DodSBoeS” R0 2

29000V Vg orr 800 &od

(A) O 100 days of wage employment
100 Sere D85 &I

(B) O 300 days of wage employment
300 Sere) HD &0

(C) O 60 days of wage employment
60 Bere) DD &>

(D) O 200 days of wage employment
200 Bere) D3 &

Question No.16 1.00

The functional segments of DNA is
AR S°D Gosres & erriaen

(A) O Genes
am5§>3w

(B) O Egg
290650

(C) O Mitochondria
e’ srodoire

(D) O Ribosomes
BeS°E oen

Question No.17 1.00

Which one of the following cities was known as the Cottonopolis of India?
go0 TBS” D D1 SOITOD 6D RoESTTT DeVFW?

(A) O Pune
e

B) O Mumbai
0o

(C) O Nagpur
I et ey o)

(D) O Nashik
P08

Question No.18 1.00

Where was the first Non-aligned movement summit held?
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2066 DT g0 DERY D) ¢ 206A0R?

(A) O Bandung
erocsr0n

(B) O New York
Qoegos8)

(C) O Belgrade
BSEE

(D) O London
Q0GR

Question No.19 1.00

Who is the chairman of NITI Aayog?
NITI es63°6 6L H5S>?

(A) O The Prime Minister
VEIV0Y

(B) O The Finance Minister
2385 oy

(C) O The Chief Minister
éwa;zg.;ﬁoo@

(D) O The Governor
(156) 6

Question No.20 1.00

Who is the new Controller General of Accounts (CGA) in the Department of Expenditure?
0D TS RBHS HrVoe DoDLASED Soff Db 2GS 2D oSy (CGA) 1E?

(A) O JP Nadda
82 N

(B) O Giriraj Prasad Gupta
AdBorE HIS I

(C) O Rajiv menon
TED WOD

(D) O Arjun Reddy
es%a.% Bé

SECTION 2 - WORKING ENGLISH

Question No.1 1.00

Choose the word which best expresses the similar meaning of the given word " CURTAIL "
Choose the word which best expresses the similar meaning of the given word " CURTAIL "
(A) O Develop

Develop

(B) O Truncate
Truncate

(C) O Enlarge
Enlarge

(D) O Zealous
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Zealous

Question No.2

Fill in the blanks with suitable Preposition from the given alternatives.

Australia consolidated their lead the ongoing Ashes cricket series
Fill in the blanks with suitable Preposition from the given alternatives.

Australia consolidated their lead the ongoing Ashes cricket series
(A) O in
in
(B) O against
against
(C) O on
on
(D) O at
at

1.00

Question No.3

Choose the word which expresses nearly the opposite meaning of the given word " PROMPT "
Choose the word which expresses nearly the opposite meaning of the given word " PROMPT "
(A) O Sluggish

Sluggish
(B) O Convince

Convince
(C) O Assist

Assist

(D) O Provoke
Provoke

1.00

Question No.4

Choose the word which best expresses the similar meaning of the given word " DESOLATE "
Choose the word which best expresses the similar meaning of the given word " DESOLATE "
(A) O Restored

Restored

(B) O Pleasant
Pleasant

(C) O Bland
Bland

(D) O Abandoned
Abandoned

1.00

Question No.5

Fill in the blanks with suitable Preposition from the given alternatives.

It has been raining Morning
Fill in the blanks with suitable Preposition from the given alternatives.

It has been raining Morning
(A) O across
across
(B) O since
since
(C) O over
over

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Metallurgy.html
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(D) O by
by

Question No.6

(A) O Pretense
Pretense

8) O Blind
Blind

(C) O Guise
Guise

(D) O Honesty
Honesty

Choose the word which expresses nearly the opposite meaning of the given word " DISGUISE "
Choose the word which expresses nearly the opposite meaning of the given word " DISGUISE "

1.00

Question No.7

(A) O Offensive
Offensive

(B) O Elegance
Elegance

(C) O Roughness
Roughness

(D) O Ugliness
Ugliness

Choose the word which best expresses the similar meaning of the given word " PULCHRITUDE "
Choose the word which best expresses the similar meaning of the given word " PULCHRITUDE "

1.00

Question No.8

(A) O Harmony
Harmony

(B) O Upgrade
Upgrade

(C) O Agreement
Agreement

(D) O Argument
Argument

Choose the word which best expresses the similar meaning of the given word " WRANGLE "
Choose the word which best expresses the similar meaning of the given word " WRANGLE "

1.00

Question No.9

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.

(A) O Linguistic
Linguistic

(B) O Financiel
Financiel

(C) O Developmant
Developmant

(D) O Goverment
Goverment

1.00

Question No.10

Fill in the blanks with suitable Preposition from the given alternatives.

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Metallurgy.html
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Nithish purchased a gift his wife
Fill in the blanks with suitable Preposition from the given alternatives.

Nithish purchased a gift his wife
(A) O for
for
(B) O during
during
(C) O about
about
(D) O along
along

Question No.11

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.
(A) O Buisness

Buisness

(B) O Breething
Breething

(C) O Invisibility
Invisibility

(D) O Perfomance
Perfomance

1.00

Question No.12

Choose the word which expresses nearly the opposite meaning of the given word " TAINTED "
Choose the word which expresses nearly the opposite meaning of the given word " TAINTED "
(A) O Nice

Nice
(B) O Decayed

Decayed
(C) O Spoiled

Spoiled
(D) O Impure

Impure

1.00

Question No.13
Fill in the blanks with suitable Article from the given alternatives.

She read book yesterday
Fill in the blanks with suitable Article from the given alternatives.

She read book yesterday
(A) O No article
No article
(B) O the
the
) O a
a
(D) O an

an

1.00

Question No.14
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Choose the word which expresses nearly the opposite meaning of the given word " TRANQUIL "
Choose the word which expresses nearly the opposite meaning of the given word " TRANQUIL "
(A) O Patient

Patient

(B) O Peaceful
Peaceful

(C) O Agreeable
Agreeable

(D) O Excitable
Excitable

Question No.15

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.
(A) O Necesary

Necesary

(B) O Sentimant
Sentimant

(C) O Indivdual
Indivdual

(D) O Harangue
Harangue

1.00

Question No.16
Fill in the blanks with suitable Article from the given alternatives.

Rheumatoid arthritis is autoimmune disease in which the body's immune system
mistakenly attacks its own tissues
Fill in the blanks with suitable Article from the given alternatives.

Rheumatoid arthritis is autoimmune disease in which the body's immune system
mistakenly attacks its own tissues

(A) O the
the
(B) O No article
No article
(C)O an

an

D) O a
a

1.00

Question No.17
Fill in the blanks with suitable Article from the given alternatives.

Our family doctor suffers from Arthritis
Fill in the blanks with suitable Article from the given alternatives.

Our family doctor suffers from Arthritis
(A) O No article
No article
B) O an
an
C©)O a
a
(D) O the
the

1.00
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Question No.18

(A) O Moderate
Moderate

(B) O Harsh
Harsh

(C) O Subdued
Subdued

(D) O Silent
Silent

Choose the word which best expresses the similar meaning of the given word " STRIDENT "
Choose the word which best expresses the similar meaning of the given word " STRIDENT "

1.00

Question No.19

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.
(A) O Temprary

Temprary
(B) O Absurrd

Absurrd

(C) O Guidance
Guidance
(D) O Financiel
Financiel

1.00

Question No.20

Fill in the blanks with suitable Article from the given alternatives.

l am oldest in my family
Fill in the blanks with suitable Article from the given alternatives.

| am oldest in my family
(A) O an
an
(B) O No article
No article
(C) O the
the
(D) O a

a

1.00

SECTION 3 - GENERAL APTITUDE

Question No.1

What will be the first number?

SIES DB?
A) O 51
51

B) O 49
49

() O 53
53

(D) O 47

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Metallurgy.html

The average of 4 numbers is 49 and the 15t number is 1/3™ of the sum of the remaining numbers.

4 Domge it 49. oS’ 15 Doz WA Dogw NGB0 1/35 Hodkd DeHX EBA Eod. &8 2GS

1.00
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47

Question No.2 1.00

In a certain code language, if APPLE is coded as SDSHO, then how is DOUBT coded in that
language?
0523 8& 030¢5°, APPLE 956 SDSHO e £& Bo0ea8, 8 23235’ DOUBT 956 der §&

B00LEIH0D?
(A) O RGXWE

RGXWE

(B) O GRXEW
GRXEW

(C) O XFYSH
XFYSH

(D) O WLFYG
WLFYG

Question No.3 1.00

If in the number 8946512736, first all the even digits are arranged in descending order and then all
the odd digits are arranged in descending order, which digit will be in the sixth position from the
right end?

8946512736 95 2oe’, wcsey 20 30@503‘1&5 HTLTEs 0" L0y &8 SO B Do

5T G006 OB DGO HDYD DogxeS” & DDG Mol 6 gvaoe? €0& 908 DA?
A) O

(B) O

S}
NN AP OO NN

Question No.4 1.00

79+16x12/(576+3)
79+16x12/(576+3)
(A) O 78

78
B) O 80

80
(C)O 74

74
(D) O 76

76

?
?

Question No.5 1.00

A is twice efficient than B, who can finish the work in 74 days. How many days are required by A
alone to complete the entire work(in days)?

28 DA 74 Bere® 3378 Bosorie B Soe3 A Bocd B 96 0G0 SOTD. Jo0go DI A )&

B0 S A Faren w10CHDB(Bers’)?
(A) O 39
39

(B) O 37

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Metallurgy.html 12/44
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37

(c)O 38
38

D) O 36
36

Question No.6

A is the husband of B who is the daughter of C. D is the daughter of E whose wife is C. How is D
related to A's daughter?

C 558 e00d B £ A 25g. C &0 arog™ s E © D ©045°8. 2y A ©85g% D Dodperdd?

(A) O Niece
08w / St HIg

B) O Aunt
@08l (D) [>G20y [e088)
(C) O Granddaughter
odHT D

(D) O Sister
Natel

1.00

Question No.7

The average of 17 consecutive numbers is 28. Find the sum of 17 numbers.
17 S8R Do Wriew 28 1 @dIGR. &8 17 Dogdjw dgE) ST dod..

(A) O 476
476

(B) O 506
506
(C)O 486
486
(D) O 496
496

1.00

Question No.8

Find the value of (a4—b4), given that (a2+b2) =85, (a-b) =1 and (a+b) = 13.
(a2+b?) = 85, (a-b) = 1 20803» (a+b) = 13 wand. (a%-b?) Dewdo EOF DA
(A) O 1103

1103

(B) O 1105
1105

(€) O 1101
1101

(D) O 1009
1009

1.00

Question No.9

Piku ran 6km towards East and took a left turn to walk 5km in that direction. She then walked 8km
towards East direction and ran 5km after taking a right turn. Finally, she ran 8km towards East
direction. How far is she from the starting point?

DL By B3S” BkM DTG DD AOH SkM HED0B. e e Brcdy B3S” 8km HAD

DD BB 208 5kmM HOTG0B. DICMT 520 BrEdy DD 8kM DBAF0s. e BN F6o2 0

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Metallurgy.html
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H00& Jodd BrGoS’ &od?

(A) O 17km
17km

(B) O 22km
22km

(€) O 21km
21km

(D) O 19km
19km

Question No.10

Choose the alternative which is an odd word/number/letter pair out of the given alternatives.
QNS z)z‘l)asw Qo0& TN DOB/Do[/eLTrO 2 SO &Y a)&a?:)l o€ od.

(A) O Rapid
Rapid
(B) O Quick
Quick
(C) O Slow
Slow
(D) O Brisk
Brisk

1.00

Question No.11

If 39% of A = 59% of 39, what is the value of A?
A S° 39% = 39 ¢5° 59% e9003 A Densd doeh?

(A) O 57
57
B) O 59
59
(C) O 61
61
(D) O 63
63

1.00

Question No.12

Which of the following years is a Leap Year?
800 5BS* BY DodeB G0 DB?

(A) O 530
530
(B) O 531
531

(C)O 529
529

(D) O 532
532

1.00

Question No.13

Find the next number in the series.
26, 27.5, 30, 33.5, 38, ?
SR SEENENIEL VIR

26, 27.5, 30, 33.5, 38, ?

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Metallurgy.html
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(A) O 43
43

(B) O 43.5
435

(C)O 44
44

(D) O 42.5
425

Question No.14 1.00

Replace the question mark with an option that follows the same logic applied in the first
pair

Butterfly : Caterpillar :: Pig : ??

8B 288" o &8) SPoTY) VD80S w&bsd‘f £7) g8 D) Qrdosod

Butterfly: Caterpillar :: Pig : ??
(A) O Puppy
Puppy
(B) O Kitten
Kitten
(C) O Shoat
Shoat
(D) O Joey
Joey

Question No.15 1.00

Pointing to a man, a lady said, "He is my mother-in-law's only son's son's father's sister's father."
How is the lady related to the man?
28 DO APDYT, 28 Y VB T OO DFE LHITWD LIPEDE o, FS08 Bod” @D BV, €2
D €8 LDOES D0DHB0E?
(A) O Niece

08w / St H°g

(B) O Wife
aD"QS

(C) O Daughter
SOl Ved)

(D) O Daughter-in-law
Ecten

Question No.16 1.00

Find the value of (a-b), given that a2+b2 = 1010 and ab = 377.
a2+b? = 1010 208050 ab = 377 wand (a-b) DevHo SOFSod.
(A) O 14

14
B)O 16

16
() O 20

20
D) O 18

18

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Metallurgy.html 15/44
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Question No.17

A boy is standing in a lawn facing North-West direction. If the boy turns 65 degrees in clockwise
direction and 155 degrees in anti-clockwise direction, which direction will he face now?

28 eenED DDYES” To0s0) BFL VDRV DN &T°) 6. &3 eV V] &3S 65 &Hen 30h
D03O3S” 155 Afen A0NB, AL QYYD D OFLH VDANPDL Eotrc?

(A) O North-East
éa?ézgo

(B) O North-West
a°oinb5o

(C) O South-West
3

(D) O South-East
esﬁ‘lotbo

1.00

Question No.18

Find the value of a2 -b?, if (a+b) = 77 and (a-b) = 13.
(a+b) = 77 2060k (a-b) = 13 eond a2 -b? Ve OF D
(A) O 1004

1004

B) O 1001
1001

() O 1003
1003

(D) O 1002
1002

1.00

Question No.19

A shopkeeper earns a profit of 20% by selling an article at Rs.546. Find the cost price of the
article(in Rs).
28 DD Rs. 546 £ @9y 28 Qo570 abasdor 20% erglo FoROTPE. 83 S § Q) &6 do&

208 D0 (Rs.0e5°)?
(A) O 444
444
(B) O 477
A77
(C) O 455
455
(D) O 466
466

1.00

Question No.20

A man buys a CCTV Camera for Rs.1660 and sells it at a loss of 15%. Find the selling price of the
CCTV Camera(in Rs).

28 D58 208 CCTV 8uoran Rs. 1660 < £ &2 15% ég‘u‘bé Dgawoered. &8 CCTV S2uo° dioos);
€D BB ER0FBod(Rs o).

(A) O 1411
1411

B) O 1311

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Metallurgy.html
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1311

) O 1211
1211

(D) O 1511
1511

Question No.21

If in the word UNIVERSITY, all the consonants are replaced by the previous letter in the alphabet
and all the vowels are replaced by the next letter then all the letters are arranged alphabetically,
which will be the sixth letter from the right end?

UNIVERSITY @935 $¢50e5°, :J"g_pobi&b WEBr0S” T J00D) BEBoFHP SO e.oéo‘)v:)g‘oe?)b

08 3r0e5° o8 SBTS &Y 005608 I BPENBD e vy Babrr DA $¢3065°D g T O
VLB E08" BAVBYT 0ES” L& VDO ol BED VLG ID?

o
O
PO ZIZT VN T

1.00

Question No.22

Find the next number in the series.
453,492, 466, 505, 479, ?
3385 307D Do SO0,

453, 492, 466, 505, 479, ?
(A) O 489
489

(B) O 498
498
(C)O 518
518

(D) O 506
506

1.00

Question No.23

45 typists can type 45 lines in 45 minutes. How many typists are needed to type 90 lines in 90
minutes?
45 2000 SR 45 GH 45 DTS’ GO Botred. 90 PP 90 ATes” B Sakoerd

QoS00 BN WBVBLYTW?
(A) O 47
47
B) O 43
43
(C)O 45
45
(D) O 41
41

1.00

Question No.24

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Metallurgy.html
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In a certain code language, if CHAIN is coded as GLEMR, then how is LEGAL coded in that
language?
05,8 §& 220e5°, CHAIN 9356 GLEMR ™ £& Ba0e0d 8, 098 eaeS LEGAL 936 der §&

B030IEIH00H?
(A) O QFLJQ

QFLJQ

(B) O IPKPE
IPKPE

() O 0ovTZO
OVTZO

(D) O PIKEP
PIKEP

Question No.25 1.00

Choose the alternative which is an odd word/number/letter pair out of the given alternatives.
fa:‘l)‘)é a:&bsve) A0 T8 Dcsan/‘é)oa)zsleséow 2530 90 &) aaé’.)bs"i)& DoEd.

(A) O PG
PG
B) O VT
VT
(C) O KB
KB
(D) O UL
UL

Question No.26 1.00

If January 1, 2052 is a Sunday, January 1, 2056 falls on which day of the week?
25508 1, 2052 es®aGo 9 2558 1, 2056 or60eS’ D Berd H0od?

(A) O Saturday
B3QaTG0

(B) O Monday
D oTG0

(C) O Friday
BogaeBo

(D) O Sunday
[LTaYerlele

Question No.27 1.00

28t February 2023 falls on which day of the week?
28 2398, 2023 o60eS° D Ferd H00d?

(A) O Wednesday
IAb aTe lele)

(B) O Tuesday
QotiFarGo

(C) O Monday
QP doarso

(D) O Sunday
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[ZlaYerlels)

Question No.28 1.00

Find the next number in the series.
14, 16, 35, 109, ?
363¢5° ST°(B Do SX0FDoC.

14, 16, 35, 109, ?
(A) O 463

463
(B) O 435

435
() O 441

441
(D) O 457

457

Question No.29 1.00

If 40% of 'X" is more than 20% of 845 by 309, find the value of 'X'.
845 &5° 20% Zoé5 ‘X'S* 40% ABoog); Dewd 309 e I &0, X' DendRd SRF DG

(A) O 1495
1495

B) O 1295
1295

(€)O 1195
1195

(D) O 1395
1395

Question No.30 1.00

Karthik travels first 60 km of the journey at 60 kmph and the remaining 60 km at 120 kmph. Find
the average speed of the entire journey(in kmph).

B HAE0e5° 2esed 60 km o 5785 60 kmph Seso& a7, 2AdS 60 km o 120 kmph Stio& d
VORI, Do HAITEI0 ALY, Ve Sy (kmph &°) 820
(A) O 76
76
(B) O 74
74
(c)O 78
78
(D) O 80
80

Question No.31 1.00

A fruit seller had some oranges. He sells 73% of oranges and still had 270 oranges. How many
oranges he initially had?
28 D0g DGO G E) T"Boadogd &) 0. 09063085" e 73% DFY 9D STS ST SIDG

@o5° 270 Jrdo2s0¢ WADET™) 0. BIHE AL 6) T80 ) ?
(A) O 1200

1200

(B) O 600
600
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(c)O 1000
1000

(D) O 800
800

Question No.32

Find the average of 8 numbers 46, 40, 35, 44, 21, 52, 74 and 82.
46, 40, 35, 44, 21, 52, 74 500050 82 5 8 Q050 DALV E0F Do,

(A) O 48.25
48.25

B) O 50.25
50.25

(C) O 47.25
47.25

(D) O 49.25
49.25

1.00

Question No.33

A Train travels at a speed of 54 kmph and crosses a signal in 59 seconds. Find the length of the
train(in metres).

54 kmph 3608 Hc0R0) 8 Tew 2.8 ) Sa 59 2EHS” TreB0s. & Few TP SFdod
(oeoges’).
(A) O 887
887
(8) O 888
888
(c)O 886
886
(D) O 885
885

1.00

Question No.34

Find the value of X, if 25% of X + 40% of 155 = 124
X &5° 25% + 155 &5° 40% = 124 090208 X Denddd 0008,

(A) O 252
252
(B) O 248
248
() O 256
256
(D) O 254
254

1.00

Question No.35

Replace the question mark with an option that follows the same logic applied in the first
pair

Frank : Direct :: Constant : ??

8B 288" 8ol TG SPoTY) VD80S DDEE YT) g8 ‘g'*a':)l Qr8otod

Frank : Direct :: Constant : ??
(A) O Fickle
Fickle

O
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(B) Stable
Stable

(C) O Variable
Variable

(D) O Changing
Changing

SECTION 4 - DOMAIN - METALLURGY ENGINEERING

Question No.1

Which of the following are correct for dislocations ? Burger vector is
(i) perpendicular to the edge dislocation line

(ii) parallel to the edge dislocation line

(iii) perpendicular to the screw dislocation line

(iv) parallel to the screw dislocation line

FOZOTOH Doe0Hod 3oBTOS” DO TY1IN? L6 D56 0B (i) ot LdgoB0 Bod S worrore
€000 (ii) @oc cg"ég;';o%o Bk B DdFoBGMT &otod (iii) ) cg"ég;';o% B 020 08008
(iv) 2oy cg"é@,o% B0 HDAToBGOTP €000
(A) O (i) & (iii)
(i) & (iii)
B) O (ii) & (iii)
(i) & (iii)
(C) O (i) & (iv)
(i) & (iv)
(D) O (i) & (iv)
(i) & (iv)

1.00

Question No.2

Silver extraction by cyanidation process is not preferred because more is required
for precipitation

2REDD HEAD T Do DY Geatd é"(;"ézso QORED, DS PIDES(WH5ED0) FELH rer
€958 0.
(A) O sulphur
1-'0&)36
(B) O copper
Sets)
(C) O zinc
20§

(D) O lead
Sé&E

1.00

Question No.3

slag practice is used for the removal of sulphur alone.
Sdeo ‘&0‘35 A0 drgan Sohodotudd @"5 DEPH0 EHDAITAOILIEIB0D

(A) O Oxidizing single slag practice
20AS Fh Jgedo oo @éﬁé Bodcto

(B) O Oxidizing double slag practice
eSS Fh Do TT° S \Ed Sokcio

(C) O Addition of FeO
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FeO Soycio

(D) O Addition of CaO
Ca0 doyco

Question No.4 1.00

In a Vicker's hardness test, a 10 kg load is applied on a material and average length of diagonals
in the indentation is measured as 1mm. What is the VHN?

D36 36D BRES” 208 AODS P 10 kg &°& esocserdod 0050 RTSRI(FY) & Degro Wrfew
ety TmMm ™ &od. VHN doeh?
(A) O 0.1854

0.1854

(B) O 1.854
1.854

() O 18.54
18.54

(D) O 185.4
185.4

Question No.5 1.00

Which among the following is not a non-renewable (fossil) fuel?
BoOTOS” DO DIDTBE0 BOLSD (ITrwdw) WG S°E?

(A) O Bituminous coal
Degdd 86

(B) O Wood

g0d

(C) O Anthracite
220852065

(D) O Lignite
80&

Question No.6 1.00

Strength of the microalloyed steel can be enhanced by
(i) Quenching
(i) Grain refinement
(iii) Cold working
208e0gradd ey g, ey BABY DotsIAN?
(i) 8¢odoh
(i) oS B
(iii) §5§ 28),06
(A) O (i) & (ii)
(i) & (ii)
(B) O (ii)&(iii)
(i) &(iii)
(C) O (i), (ii) & (iii)
(), (ii) & (iii)
(D) O (i) &(iii)
(i) &(iii)
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(A) O

B) O

() O

(D) O

Metallurgy

Question No.7

Hardenability of steel can be improved by shifting the TTT curve to
&80); G, :J"gée':)@)e% (Hardenability)d TTT £5°0y AR DGy Gho TPIT° DOEMDERIDRIY

towards the temperature axis
&S vgo DD

towards the time axis
Q2008 o DY

away from the time axis
00D 93PS Brdorr

away from the temperature axis
e&;fgé 38 Brdorr

1.00

(A) O

Question No.8

If the ratio of hydrogen and hydrogen compound content is zero, then the
28DV PEBD 20050 FFEBD VIO Tdo QS KT NS, XY

Gross calorific value is zero
are 3e5°0DE densd 20R)

Gross calorific value of fuel is equal to the net calorific value
Q0G0 A0E) RWre SE°BDE Ded, LG 3E™0HE ewHLH VITHHL

Net calorific value of fuel is greater than Gross calorific value
oo AE), LG E8DE Dend, Yo 3E°BHE Dewdot D&y d

Gross calorific value of fuel is greater than net calorific value
oo AL, Are SEBHE Dend, VLS 3E°8E Dewdot D&y d

1.00

(A) O

(B) O

(€)O

(D) O

Question No.9

During the refining of nickel by carbonyl process, nickel decomposes into
Site) 83:0;65 Deedo & qo° DBS 80h 63‘{9.):‘63‘@62) D85 ™ D350 BoOod.

Pure nickel and carbon monoxide
“eosé')@é D8S Hodasw s"d')fo bra‘gb&

Pure nickel and oxygen
‘&5:3();_1)«6 D85 8030 e.aébez;fo

Pure nickel and carbon monoxide & oxygen
DRBNDOD IBS 0O TGS DPTSE , Sy

Pure nickel and carbon dioxide
{osé‘)gm D3e5 LB S°C$e)5 c:,cwgb&,

1.00

Question No.10

In dye penetrant inspection, water washable penetrants belong to
& 2GS SIPS’, Toab o220 DIGoeSy & RocwTeow.

(A) O Post emulsfiying type

SG‘Z? Qéo@bzgoo,)oﬁ G%o

(B) O Non-emulsfiying type

3“5-3&)@3}_20&)05 G%o
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(C) O Self emulsfiying type
:‘oéb am@bgwoﬁ 880

(D) O Solvent removaable type
5‘65065 BAVDeNS Go

Question No.11 1.00

Magnetic particle inspection can be used to identify
(i) quench cracks

(ii) fatigue cracks

(iii) weld cracks

ODIY 0 &63 DBL BID (DPoSEEAS EDATAFD.

(i) 80 Dridwy
(i) A w0,
(iif) DS %0,
(A) O (i) & (ii)
(i) & (i)
(B) O (i) & (iii)
(ii) & (iii)
(C) O ({iii) only
(iii) Soegsao
(D) O (i), (ii) & (iii)
(i), (ii) & (iii)

Question No.12 1.00

The amount of internal stresses developed during quenching increases with
8goof Kok’ €053 DotS WoBES DB & Dvrdzeow

(A) O increase in austenite grain size
e3¢5 GOwD OJPEa0eS” DALMY

(B) O increase in nickel content
DES F*Bo DALAG

(C) O increase in chromium content
EA00D Fho DEMGY

(D) O increase in carbon content
S°0yQ T do DD OV

Question No.13 1.00

HSLA steels are more commonly used for the construction of bridges than plain carbon steels
because of their .
FTPEEIOT 0B JT°£085° POND 576N Sy Sotd HSLA 265y & o8 SeGEaorT

EDABTOF .

(A) O High strength and high corrosion resistance
©88 wwo HBo S FE2D TG0

(B) O High strength
HE Vo

(C) O High corrosion resistance
068 §825 T ¢o
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(D) O High strength and hardness
©OS VO B (30

Question No.14 1.00

True stress - true strain curve is also known as flow curve since it represents the
TPRD PBLVO-TRD VA HFo(True stress - true strain curve) AL cio dod O° 86¢

9 QEIT® 9oETPE.

(A) O basic yield flow characteristic of the material
BOES ), FEE e T VLo

(B) O basic fracture flow characteristic of the material
BO0ES g, FEE FEyb & wgero

(C) O basic elastic flow characteristic of the material
BB ), FEWE JrRE P ©8ev0

(D) O basic plastic flow characteristic of the material
BBAHS g FEWE PRE P vLe0

Question No.15 1.00

Which of the following metal powders are not produced by atomization technique?
(i) Tungsten
(i) Molybdenum
(iii) Steel
€06 T°8S” esLDOEND D5ed0eS” DLVDED &% Baadd DO?
(i) £206
(if) 5dQd0
(iii) ‘:‘36
(A) O (i) &(iii)
(i) &(iii)
(B) O (i), (ii) & (iif)
(i), (i) & (iii)
(C) O (i) only
(i) orgdo

(D) O (i) &(ii)
(i) &(ii)

Question No.16 1.00

High speed steels are characterized by
(i) Red hardness
(ii) Shock resistance
(iii)Temper embrittlement
PG N e HEEBoDLIETPON
RN A a
(i) B& 60
(ii) & D80
(iii) 06 oDASGy 05
(A) O (ii)&(iii)
(i) &(iii)
(B) O (i) &(ii)
(i) &(ii)
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i),(ii)
(| ,(||) (iii)

Question No.17 1.00

To measure hardness, Rockwell hardness test utilizes
7GR0 EvHErS, TEDS DIV BY | X0 &1ATNR00.

(A) O Applied load and diameter of indentation
€080 &S°6 OO REoEID(TE) doog), S50

(B) O Diameter of indentation
QoGoESAD(TE) g, TgR0

(C) O Depth of indentation
R08o5D(TY) cing), Sdo

(D) O Applied load, diameter of indentation and time of load
E05GD &°E, RoGBAD(TY) g, AW, §°E Gousedtd Do

Question No.18 1.00

Which of the following elements are used to control the intergranular corrosion in austenitic
stainless steels?

SRDBE RONITD JES” Robragws ET2S 5 DooBBotoh 3068S” D MuresTen
&HOMBTNodIETEoN?

(A) O Carbon and silicon
svdafo S0003w DO

(B) O Chromium and carbon
E ok 005 6D

(C) O Niobium and titanium
Qa3rdoio Hodakn Gerdoio

(D) O Chromium and silicon
Ea300 00050 OO

Question No.19 1.00

Which of the following stratement(s) are true? In galvanic series
(i) Noble metals are placed at the top

(i) Cathodic metals are placed at the top

(iii) Anodic metals are placed at the top

8008 QOGRGRD DELD (e0) &° DO DSBEI? DS Fe3es

(i) ez '35 PO oSt T o
(i) BHAS S5°538e0 P GorderGTo0
(iii) OIPSAS S5°8en P oserdTan

(A) O (iii) only
(iif) S50
(B) O (i) only
(i) S

(C) O (i) & (ii)
(i) & (ii)
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D) O (i) & (iii)
(i) & (iii)

Question No.20 1.00

Rate of strain hardening

(i)is lower for HCP metals than cubic metals
(ii)is higher for HCP metals than cubic metals
(iiincreases with increasing temperature
(iv)decreases with increasing temperature
RS :3621005 o[ AVE DINTA)

&,

EiJ) 200 8% ol HCP S°os) e
()20 &°3%0 o3 HCP &°30& de)
(iii) e 58 0OAB DB
(iv) &g OB Sriodtood
(A) O (ii) &(iii)
(i) &(iii)
(B) O (i) &(iv)
(i) &(iv)
(C) O (i) & (iii)
(i) & (iii)
(D) O (ii) & (iv)
(ii) & (iv)

Question No.21 1.00

furnace is not a coke based furnace
§§ esp00¢h DB D T DB D

(A) O Blast furnace
&% 985

(B) O Foudary pot furnace
Frod 5 $8) D

(C) O Cupola furnace
935@0’ &6&5

(D) O Rotary kiln furnace
Beb 86) B S

Question No.22 1.00

Which of the following statements hold good for gas welding ?
(i) Oxidizing flame is not preferred for welding of steels

(i) Neutral flame is used for welding of steels

(iii) Carburizing flame is used for welding of high carbon steels
50 Doh & Doedod), 808 HELDVS” IO HTHE?

(i) RSy Doh B0 81868 2 JocsoE'eaciesd
(ii) RSy DDoh BRI SBLR(IPIS) PR SOAPNOBIDB0E
& [~3 ()
(iif) 37° 763D RSy Dok B EB6NECE PR EDATAOILCOBE

(A) O (i) & (iv)
(i) & (iv)
B) O (i) & (iii)
(ii) & (iif)
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(C) O (i), (ii) & (iii)

(i), (ii) & (iii)
(D) O (i) & (ii)

(i) & (ii)

Question No.23 1.00

In comparison to carburized case, nitrided case is
SENRE 80 Oy, PBEE 80 0d6

(A) O relatively thin, much harder and exhibits better endurance limit
JeH Lo HeVSP, B0 EBHOM &od WAE HIPHIL HOWA EDAI0t0d

(B) O relatively thick, much softer and better corrsion esistance
LT B0CS0TP, S80S E0yEIDTT &0l OE VITPHIV DOSA EDA0LVS

(C) O relatively thin, much softer and better endurance limit
LT DAV, 2080 B0V €G0S IQE WTPDIV DB EDAHLVA

(D) O relatively thick, much harder and better endurance limit
FrE 0T A0, 000 SBIOMT &0S IBE WIPIIL HDOMS EOAD0EV0H

Question No.24 1.00

Wear due to impingement of fluids is called
QTP DATDS0(R0DARV0ES) DR VBE VDSV 03P

(A) O abrasive wear
PGS0 trbdu (w8 )

(B) O adhesive wear
DTS ISE I ToblgblaT3)

(C) O erosion wear
gogodo (erosion) edbbh oo

(D) O surface fatigue
60080 8cdS (RBYD Fih)

Question No.25 1.00
The ASTM grain size number of a metal specimen if there are 8 grains per square inch at a

magnification of 100X.
100X G308, DRBE0 DG LA SEGD orH¥*IS 8 Srren esoth ST H1rD® dig), ASTM gowsd &

dodb:
A) O

B) O
() O
(D) O

OO0 O A NN

Question No.26 1.00

Full annealing process is not adopted for hyper eutectoid steels due to
(i) coarsening of austenite grains
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(i) formation of fine lamellar pearlite

(iii) formation of cementite network

3706 csregrans ?Séos.) DS eabclé)oﬁ DEPH0 9DB0IIEED IS S°EE0

(i) 53¢ Gon® ETyJoh
(ii) 98 e erR096 DETE Jsycieo
(iii) 220085 DE5:58), Dyciero
(A) O (i) &(iii)
(i) &(iii)
B) O (i) & (iii)
(ii) & (i)
(C) O (i) & (ii)
(i) & (ii)
(D) O (i) only
(i) S

Question No.27 1.00

The type of load applied in stretch forming process is
RS 806 HIAHS” BQoweD S°E Bog), B0

(A) O Compressive
EoRND

(B) O Shear
220506 (DAead0)

(C) O Torsional
¢5°6eS

(D) O Tensile
63@‘36

Question No.28 1.00

Which of the following is/are diffusionless transformation?
(i) Formation of lath martensite
(ii) Formation of plate martensite
(iii) Formation of bainite
8008 RBRGD TOES’ DO/AD YO B2 Erroddea/en?
(i) S& ST Doycievo
(i) &5 DB Doyciero
(iii) B Doychero
(A) O (i) & (ii)
(i) Sod8as (ii)
(B) O (i), (ii) & (iii)
(i), (i) 08030 (iii)
(C) O (i) &(iii)
(i) 0003 (iii)
(D) O (i) only
(i) e

Question No.29 1.00
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Which of the following melting methods is used for stainless steel melting?
ROVDSD S QoS D DD 20ohh DgPdo EDATNOSLILS0?

(A) O Blast furnace
&P ¥B) D
S e

(B) O Reverbratory furnace
325,28 HBY D

(C) O Cupola furnace
O’ HBY D

(D) O Induction melting furnace
QoL bogoﬁ D3 D

Question No.30

Inoculation of cast irons is done to
R PODy AN, DILHTAD 0 BoBercodod.

(A) O Change the microstructure
ERENE Br8ya
=Te

(B) O Decrease the strength of casting
S‘fgoﬁ Loy e‘éQor’Socﬁ.)S.)

(C) O To increase the soldification rate
D0DHD(FOENEND) Bewdd 0BG

(D) O To decrease the solidifcation rate
2OVPID(FOGEDTAD) GeaR0 BB

1.00

Question No.31

Strain in bending of sheet metal
2285 SO HoDVYE RowD(DED) 36

(A) O independent of radius of curvature
SgTe THITOS D BoPorr esotod

(B) O decreases with radius of curvature
dgo° TFGod Brhdood

(C) O increases with radius of curvature
g 055»3056 DEAB0H

(D) O intially increases and then decreases
o250’ DOA &2 ST SAV°A00d

1.00

Question No.32

Symmetrical shaped castings can be produced by
HD(V20)BES) 576 SPERorLOD oo Tocsdesoy

(A) O Sweep pattern
S

(B) O Match plate pattern
QD D DT

(C) O Skeleton pattern
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?ozjé)e)S DAOTT®

(D) O Spilt pattern
DS DT

Question No.33 1.00

Which of the following is used as a binder in CO, moulding process?
CO5 5500 DS’ 3ocBDDD TPOES” DO 28 Botid M EHAIPAOLICDOBE?

(A) O Calcium carbonate
s*’gojoé.) SRR

(B) O Sodium silicate
& ao HIEES

(C) O Sodium hydroxide
Jcado e g6

(D) O Sodium carbonate
Fdawo 58,365

Question No.34 1.00

In maraging steels, martensite formation is caused by the presence of
&) O H0T°N0h BB DBAHE’, 68 DD APGAE 6B,

(A) O carbon
S"va%

(B) O cobalt
Eerg

(C) O chromium
a0

(D) O nickel
LD

Question No.35 1.00

Important applications of hydrogen atmosphere during sintering are
(i) Reduction of oxides

(if) Annealing of powders

(iii) Carburizing of tungsten powders

208806 W00’ TFEBD TEPHCGE DD IRVSIOTD

(i) es3 &0 LoB8BER0
(if) Sorgre e3D®oh
(iii) ©206 TP S°EN3E Soscio
(A) O (ii) &(iii)

(i) &(iii)
B) O (i) & (iii)

(i) & (iii)
(C©) O (i),(ii) & (iii)

(i), (ii) & (iii)
(D) O (i) & (ii)

(i) & (ii)
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Question No.36 1.00

Ductile to Brittlle Transition Temperature (DBTT) of a metal depends on the
(i) temperature
(ii) grain size
(iii) chemical composition
28 S0 dIE) ¢FS e QBS LIRS B00B6 (DBTT) B3 &erddd €50000
(i) &Tos
(i) BowS HBATE0
(iii) 8BES oTRAS (Srad &3cdy)
(A) O (i), (ii) and (iii)
(i), (ii) Sv8as0 (iii)
(B) O (i) and (ii) only
(1) 0003 (i) Sdorgado

() O (i) and (iii) only
(ii) 206050 (jii) Do

(D) O (i) only
(i) e

Question No.37 1.00

does not belong to the acid refractory class.
QIrRE BFEO HTIS BosAB

(A) O Magnesite
Qoeth) D5

(B) O Silica
20z

(€) O Muliite
2056

(D) O Fire clay
263

Question No.38 1.00

During the tension test of a metal, an engineering strain of 0.4 at 250N/mm? engineering stress
was observed. What is the true stress for this strain?

28 SIS BID(BR() HOL B DA, 250N/mm? 9029606 20 96 0.4 2029006 PowD
QoS 0d. & ?8033550 ge ?85_0 doh?
(A) O 350 N/mm?

350 N/mm?2

B) O 575 N/mm2
575 N/mm?

(€) O 200 N/mm2
200 N/mm?

2

2

(D) O 500 N/mm
500 N/mm

Question No.39 1.00
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Initial sound pressure employed in Ultrasonic testing is
e’ DE HOLES’ eOAIPNOD Foss B8y Do

Inversely proportional to the exponential of linear coeffecient of attenuation
SROIAD IE), TN g0 e, DPBAIPIS DS ArTBoS” otods

Inversely proportional to the linear coeffecient of attenuation
SROIADD IE), TN HE5°AS DSBS’ 08000

Directly proportional to the exponential of linear coeffecient of attenuation
VBIEHRD ALY FHOD Lo CINE) DAATIS WS ITRIBoS’ Gotod

Directly proportional to the linear coeffecient of attenuation
SIS g, 3D (1£05°DS 9065 ATrOIPH0eS’ Eotod

5380

(A) O

(B) O

() O

(D) O

Question No.40 1.00
Extrusion pressure in direct extrusion process is more than indirect extrusion process, because

E0§ D5 \erad HEHES”, DE\Trad Do DEL IE\WTRD Do ET7) WAL otos. BIS

No relative motion between the container wall and the billet in indirect extrusion
process
DEL & Wrad PEAHS” L0306 e S8k DTS © G| D DEPD FHL SOBo Gotktd

High ram speed in direct extrusion process
D58 A5 \rad DS’ WA T Srio

High lubrication in indirect extrusion process
HEE DE\rad PEaHS” oS ardSad

Die friction is more in direct extrusion process
D358 A5 \rad HIODS” & 208 WHEOM Eot0d

(€) O

(D) O

Question No.41 1.00

Formation of cold shut in forging is caused by which of the following factors?
(i) Too small die radius

(i) Excessive chilling

(iii) High friction

i)“goﬁe56 §°§ 2 OIS God sE5P0eS” DO S°6E0?

(i) erer D) & agIgdw

(ii) 008 w0

(if) e065% Dogea

(i),(ii) & (iii)
(i), (i) & (iii)
(i) only

(i) oy
(iii) only

(i) soreyo
(i) only

(i) Sorggdo

Question No.42 1.00
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The amount of heat generated during the resistance welding of two sheets is 1 mm thick steel
using a current of 10000 amps for 0.1 second with an effective resistance of 1uQ is

098 Do QS 0.1 2Eogren 10000 e50203¢ EBonRO EHAPACD 1 MM BoGHVD) Toth RS
200 PO Dofl BRVIYYE &S s eHR00H?
(A) O 100J

100 J

B) O 1000 J
1000 J

(€) O 10000 J
10000 J

(D) O 10J
10J

Question No.43 1.00

All of the following alloying elements increase hardenability of steel except
3008 QOGS S'EPZE rOSLES’ DO DD $8) D S ANE), HBET ) (33FHDDE) DocTrow

(A) O Chromium
Eoa

(B) O Nickel
RED)

(C) O Cobalt
gwé

(D) O Silicon
295

Question No.44 1.00

Purpose of secondary steel making?
(i) inclusion control
(ii) chemical composition adjustment
(iii) degassing
0goc RS 2080k AIE); &DAT(0?
(i) @ograd Sots’sS
(ii) 8RO gdTew DY
(iii) drrgo0h
(A) O (i) & (iii)
(i) & (iii)
(B) O (i) &(ii)
(i) &(ii)
(C) O (ii) & (iii)
(i) & (iii)
(D) O (i), (i) & (iii)
(1), (i) & (iii)

Question No.45 1.00

In the cementation process, gold is precipitated from the cyanide solution by adding
2200EAD DEADNES’ PRE OIS BO o TPLO® e0TPG0 HEILIEB0E

(A) O Nickel dust
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D8 G

(B) O lIron dust
QAN G

(C) O Zinc dust
o8 sadn

(D) O Copper dust
oA G230

Question No.46 1.00

Open hearth furnace is a
L2 3§ DB S Do

(A) O coal + coke based furnace
ES + €8 eprdds DB) D

(B) O coke based furnace
88 508 1Y D

(C) O liquid + gaseous fuel based furnace
8O + Teo0 Qo erdS ;’)3;5

(D) O coal based furnace
86 esrr0d DB O

Question No.47 1.00

In magnetic particle inspection, demagnetization is not necessary for

(i) High resistivity components

(i) Low resistivity components

(iii) Components that undergo heat treatment below curie temperature

(iv) Components that undergo heat treatment above curie temperature
O 08 £ SIDES”, DB 0BEGes (Cadryr) BEAD) £ 0G0 Fo.

(i) 008 T 3L HpHen
(ii) ) DS HRPew
(iif) &6 s Sotd e §°co.)e56 oT¢5 BE5200¢560 HE DD
(iv) 8356 &GS Soth & ,gvcmes‘ 3¢5 005 BT DRV
(A) O (i) & (iii)

(i) & (iii)
(B) O (i) & (iv)

(i) & (iv)

() O (i) & (iv)
(ii) & (iv)

(D) O (ii) & (iii)
(i) & (iii)
Question No.48 1.00
Maximum temperature in blast furnace is attained in the region
&R DB) O wages eds Froth0eS” Tocseacidchrod

(A) O tuyere
€003 (tuyere)

(B) O throat
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g

(C) O hearth
B00L) DVDE HB%0 (a°8)

(D) O stack
8

Question No.49

Arc blow during shielded metal arc welding is controlled by
2GE 2008 e38), DYoh DL’ ) &’ B DoOGoSIBN:

(A) O Increasing the welding current
bgoﬁ &80t QO dotdcto & qo°

(B) O Changing to alternating current
AP0 DS PI*IS HrGy Lo T o

(C) O Keeping the arc length at maximum
86), GPTPR) DVOWDoS (OQOM esouscio TP T°

(D) O Changing to direct current
DEAVD :)csozsé DB SO NR N

1.00

Question No.50

furnace requires liquid metal to start the furnace.
08) D30 FGoDoBoced & B S°5°0 9DVGAPDB0O.

(A) O Direct arc electric furnace
Yol 9366 RIS ;36&5
&0g 8

(B) O Indirect arc electric furnace
ANETS 96 JUSSE HB) O
03 8
(C) O Coreless type induction furnace
E6TD BO WokdS DBY D

(D) O Core type induction furnace
E6 85 Qo sd DTS

1.00

Question No.51

Pitting resistance of austenitic stainless steel cannot be improved by the addition of
SDBSE RENITD JS g, BBoh AT o BID ELDEO TPLT® DocLIE

(A) O Chromium
Eoaso

(B) O Molybdenum
w&)agéo

(C) O Nitrogen
PSR

(D) O Carbon
5"6&5

1.00

Question No.52
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Which of the following elements are used as microalloying elements in microalloyed steel?
8008 BODN Jurvsred” O PEVErah duresTw, EWErAd &) S edATRosETTo?

1 T

(A) O Nickel, Titanium and molybdenum
D8, Berdobo, maegao

(B) O Chromium, molybdenum and Nickel
§ado. br@egéo, 8

(C) O Titanium, vanadium and niobium
Eerdapo, DI°E oH0o, AGBTDoH

(D) O Titanium, molybdenum and niobium
e doo, 535"8)?2?60, DA3rDaio

Question No.53

During electron beam welding of a 1 mm thick steel plate, 1000W power is utilized at a welding
speed of 25mm/s. The heat input required for the welding of 1Tmm thickness steel plate is
1 MM B006500) S HE ALY, JVTS DD Doh DADES’, 25 MM / s Dok Srio&® 1000W 56

EDBTAIICS0H. 1 MM oo %36 26 qIg), Dok E0 VBV a5 ASYE:

(A) O 40 J/mm
40 J/mm

B)O 0.4J
0.4J

(C) O 0.025 J/mm
0.025 J/mm

(D) O 25000 J/mm
25000 J/mm

Question No.54

Griffith theory is proposed brittle fracture mechanism based on the
DS dgrodho, DBS Fe\6 s Aok ITPEOTT DA EODIE

(A) O Gibbs free eenrgy
ﬁesb g), 33

(B) O Elastic strain energy
derdE VoD ¥
o8
(C) O Plastic strain energy
FRSE Yo 38

(D) O Heat enenrgy
e 93

Question No.55

Which among the given rolling mill type gives the highest reduction ratio ?
2Dy EDoh ogd B5°0ES” DO WSO DEVEBE(OELD) DA |ZPB?

(A) O Four high rolling mill
et 33 8o 06

(B) O Planetary rolling mill
I8 EFoh &S

(C) O Three high rolling mill
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B¢ 3 BOoh S

(D) O Two high rolling mill
Bocd 3° BOoh S

Question No.56 1.00

Which of the following statements is true for Tetragonal Crystal system?
BEPHHES 86 208 0020600 806 DELIVES’ DB TYDIN?

(A) O a#b#c & a#p#y
a#zb#c & a#R#y

(B) O a#b#c & a=p=y=90°
a#b#c & a=p=y=90°

(C) O a=b#c & a=p=y=90°
a=b#c & a=p=y=90°

(D) O a=b=c & a=p=y=90°
a=b=c & a=B=y=90°

Question No.57 1.00

Bauxite, an ore of Aluminium is a mixture of
A0 AL, TEAIRD eSS D QFdvo

(A) O Diaspore and dolomite
03’ 6 BuBosw EVoes

(B) O Gibbsite and dolomite
ABES L0805 EvDoes

(C) O Gibbsite and diaspore
ﬁgbes EebleYen V) éwssbs

(D) O Gibbsite, dolomite and diaspore
ABNES, 00, cosrIy6

Question No.58 1.00

Burden charged in the furnace should have a
D0) D &° e9DIB20D 8D &80 &or®

(A) O high gangue content
0O Iz 2rdJ50(gangue) o

(B) O high alumina/silica ratio
0OE e.owngom/‘?oé)s" f():qbe;g

(C) O low aluminalsilica ratio
Oy WriOT/DIT IS

(D) O high sulphur content
OY {oe)bé FSo

Question No.59 1.00

Components that can be made only by powder metallurgy
(i) Porous bearings and filters
(ii) Electrical brushes
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(iii) Cermets
(iv) Oxide Dispersion strengthend alloys
Ed00 Db b.)eoog oo QPG RD BosrEd BSadF erren:

(i) 6D B60fen 2005 DLE
(if) QogseS paen
(iii) 28y e0
(iv) e58y& GRNGR PTG egraoen
(A) O (i), (iii) & (iv)
(i), (iii) & (iv)
(B) O (i),(iii) & (iv)
(i), (iii) & (iv)
(C) O (i),(ii) & (iv)
(i),(ii) & (iv)
(D) O (i), (i) &(iii)
(i), (ii) &(iii)

Question No.60 1.00

Low cycle fatigue behaviour is explained by
&S° 285 FBA LIGD BIB DdBoSIGIE

(A) O Hall-Pitch relation
336e5-23 %0106

(B) O S-N curve
S-N 550

(C) O Coffin-Manson relation
5‘3;5-&1‘&35 EST AT AP )

(D) O Basquin Equation
SRS DDEBEIHD

Question No.61 1.00

In X-ray radiographic testing, high density X-rays can cause
(i) incorrect exposure

(i) over development

(iii) bleached safe light

X-8 Bao3rmrs 004, 0hg Fogdio X-805 & 52680 SPauy.
(i) 3360 exdrgso

(ii) Deo) O EHOD stdcio

(iii) 2O G D2V Bcto

i), (ii) & (iii)

(

(i), (i) & (iii)
(B) O (ii) & (iii)

(i) & (iii)

(i) only

(i) S,

D) O (i) & (ii)
(i) & (ii)

Question No.62 1.00
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The amount of ferrite in pearlite in a 0.8% carbon steel at room temperature is
656 &3 9 0.8% 2630 IS DETES °D 1JES FSo:

(A) O 11.3%
11.3%
B) O 14.5%
14.5%
) O 88.7%
88.7%
(D) O 75.5%
75.5%

Question No.63

Which of the following are the major advantages of DR processes (sponge iron making) over blast
furnace iron making?

(i) Smaller module size

(i) Superior environmental friendliness

(iii) Lower total capital investment

e‘gm:oa ;)8&55 D065’ Q&AL $o3rdLots DR dearerds® («3*’30?5 DB BoIr8) (0 HATPRTELD DEY?
(i) DY DPErgeS HOZTE0
(if) 050 Doeg0BEs rdo
(iii) LD JTrOES D
(A) O (i) & (iil)

(i) & (iil)
B) O (i), (ii) & (iii)

(i), (ii) & (iii)
€) O (i) & (iii)

(i) & (iii)
D) O (i) & (ii)

(i) & (ii)

1.00

Question No.64

Fick's first law states that
D& 2005 DaR0 R BLVVOA!

(A) O Atomic flux is directly proportional to the concentration gradient
DEBIED VDTET0 MPES PIRBL VRS’ BrHIBoS’ &otod

(B) O Atomic flux is directly proportional to the concentration
DOBIED WDTET0 TPESLD 9IS OO S0eS” &otnod

(C) O Atomic weight is directly proportional to the concentration
DOAED 2P0 TPEBE 90 AP S0 &otaod

(D) O Atomic weight is directly proportional to the concentration gradient
DBATED 2P0 TP DIEIHED 90 AP SB0eS° &0tnod

1.00

Question No.65

Sequence of reduction of hematite to iron in the blast furnace is
&R DB) D & IH0HE @10 DBDGD0 Bokd F0A0
(A) O Fey03 into Fe30, into FexO into Fe
Fe;0; into Fe304 into FexO into Fe
(B) O Fe30, into FexO into Fe,0O5 into Fe
Fe304 into FexO into Fe;O3 into Fe
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(C) O Fe304 into Fe,05 into FexO into Fe

Fe30,4 into Fe;O3 into FexO into Fe
(D) O FexO into Fe304 into Fe,0O5 into Fe

FexO into Fe30Oy4 into Fe;O5 into Fe

Question No.66

The defect which occurs when two streams of molten metal physically meet but do not fuse
together is called .

€90€3°30

(A) O Cold shut
8 1S

(B) O Segregation
2BBA0

(C) O Misrun
FOVISTO S

(D) O Hot tear
335¢5 Bad

80RO Toctd %50 VITEIe EFAL0T EDBVZYYE 28T LEFED oo 2D S°Fy

1.00

Question No.67

Which of the following heat treatment process is used to produce bainite structure in steels?
&5 08" B Iy a0 TFoBowdLd S0 B TS LRV 2e5 G500 Dodo

&DATA0ILICIH0H?

(A) O Quenching and Tempering
§50t305 S00030 30800

(B) O Martempering
wgoﬁ)boﬁ

(C) O Austempering
e.a':fgo:()éoﬁ

(D) O Sub-zero treatment
065-58 52008

1.00

Question No.68

In electric arc furnace steel making, which of the following statements is correct?
J0FE e36) 0B) D JE $0363 00220600, BHITAS’ DO TPRYHHIN?

(A) O only direct current(DC) is used
8500 DSR2 DAAS YIEPo(ER) ATGD &DATNoLsRICIBE

(B) O only alternating current (AC) is used
3500 DSP0BS DS PIPEro (V) PG &DATAOILCBIR

(C) O both AC and DC are used
D BH0803%0 A Todkr &HAIAoSeIc TR o

(D) O eddy current is used
& S0t EDATNOBRIA00

1.00
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Question No.69 1.00

Stress corrosion cracking is caused by
(i) corrosive environment

(ii) tensile stress

(iii) temperature

RO T2 5730h IO BADY DoBDRWB

(i) 825 HovTren
(if) 23S RIS HBewo0)
(iii) e
(A) O (i) only
(ii) S
B) O (i) & (i)
(i) & (ii)
(C) O (ii) & (iii)
(ii) & (iii)
(D) O (i), (ii) & (iii)
(i), (ii) & (iii)

Question No.70 1.00

Which one of the following compounds is called white metal during the extraction of copper?
T°0 D G DaaDES” §obd D BT D5 DoLS(B(S &'50) M DewHecdB0B?
(A) O CuS
CuS
(B) O Cu,S
CUzs
(C) O Cuo
CuO
(D) O Cuy,0
CU2O

Question No.71 1.00

Addition of FeO in slag practice is used to remove
(i) carbon

(i) Manganese

(iii) sulphur

(iv) Phosphorus

6 P8’ FeO & SofoBocsd S6Jech.

(i) 576y

(ii) &oriDS

(iil) w6

(iv) 20360

(A) O (i) & (i)
(i) & (ii)

(B) O (i),(ii) & (iv)
(i),(ii) & (iv)

(C) O (i), (iii) & (iv)
(ii), (iii) & (iv)

(D) O (i), (ii) & (iii)
(i), (ii) & (iii)
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Question No.72

The value of Larson-Miller parameter in a stress rupture test for failure of a material in 100000
hours at temperature of 1000K. Take C= 46.

1000K e 5¢ 100000 Hoteres” 2u8 Do qiovg), Do 6L RO 6086 SRS’ er6yD-Doeb
@ & (5 ©
DTN Jed dos. C= 46 e HBK3odocs.
(A) O 5000 In(10) - 46
5000 In(10) - 46
() O 1000(5 In(10) - 46)
1000(5 In(10) - 46)
(C) O 1000(5 In(10) + 46)
1000(5 In(10) + 46)
(D) O 5000 In(10) + 46
5000 In(10) + 46

1.00

Question No.73

During solidification of steel, killed ingots are .
RS AQDE(FDADERD) D000, 8S RDFESy 03D

(A) O Heavily deoxidized
28 Cesd\EE Sabedsron

(B) O Partially oxidized
FE <o S aE Soecaron

(C) O Heavily oxidizied
28 e8S\GE Sadberdizron

(D) O Partially deoxidized
FE8orr Gesd\ad Badercieron

1.00

Question No.74

Which of the following defects can be detected by visual inspection?
$o6BODN S'F0S” BID B WBousHEN?

(A) O Internal cracks
S065S° €0l DA

(B) O Inclusions

(C) O Subsurface cracks
GBSO DT,

(D) O Surface cracks
&D0% :.)ﬁ)%o

1.00

Question No.75

is not a pressureless compaction technique
W8 DEDGIPS SPoFED o SIS

(A) O Vibratory compaction
DS SoFrES

(B) O Cold isostatic compaction
§‘eG§ DI’ PBE LoD
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(C) O Slip casting

DD °V0H

> ®©
(D) O Tape casting

€30 S"fgoﬁ
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